BRIERIRELICETIAEZ(I2AHESR)

£

IE4 TIEIGA TEHM™ IEER M= AFLE# A E| AFLEEEA
3@ I e g A MAREELS 667K
78 |RIKEME  [MERRSRER J5R0 YR IMRETSE MRMERTEIISEL| pyp |HARE EAT ) imgia T H2s0m WEAML | 27
i BHES—~—3K
BAREHRIE
§§$ﬁ1ﬁ
= . e . 100  L=1,902.27m
74 |¥B iﬁﬁ@g??é;ﬁ%’fg% %gg?@%’ﬂﬁ’iiﬁm*? 9vA |&I= gmogtﬁﬁ L=100m B AL 1A
i B = 100RYHE L=20m
(BE1ITRX) ¢ 100 fH#51 L=5.7m
$ 100 152 L=4.2m
;’f%%*ﬁé&l%
. . 100 L=988.3m
bR R B R (R HTE ) AL T R A RN F . s
75 |TER B B R o e sn 9rA |BIZE @75 L=2,423m(LESHE~) B AR 18
z&)i;,niﬁ?l,ﬁ%‘ﬁnxl$ B9 EHN 75 L=216m(‘.%‘l§§:\5%':§'\)
- 2B 15




